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Please check that this question paper contains 12 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 30 questions.
Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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(iv) o7 GEIT6 — 8 3N 21 — 23 T I J97 8, I o7 3 3% BT 8 | G4l Io71 3 I
GIHIIA: 60 V1] @ 3718 7 57 |

(v) FTGEIT9— 11 3K 24 — 26 T8 o &7 3707 I97 &, JA% Jo7 F 4 3% & | ¥t go71
& I G 70 I%g] @ 3719 T & |

(vi) T GE&T12 - 15 37K 27 - 30 35 3707 397 &, I9% J97 3 6 3% & | T 5ol &
I GrT=ra: 100 31551 @ 3719% 7 81 |

(vii) I Fo1 & I Gl UF &1 517 FET T4 TG [Hegar g AT & Hiaw
FT 1697 ST1T T /

General Instructions :
(i)  All questions in both sections are compulsory.
(ii) Marks for questions are indicated against each question.

(iii) Questions number 1 — 5 and 16 — 20 are very short answer questions carrying

1 mark each. They are required to be answered in one sentence.

(iv) Questions number 6 — 8 and 21 — 23 are short answer questions carrying

3 marks each. Answers to them should not normally exceed 60 words each.

(v)  Questions number 9 — 11 and 24 — 26 are also short answer questions carrying

4 marks each. Answers to them should not normally exceed 70 words each.

(vi)  Questions number 12 — 15 and 27 — 30 are long answer questions carrying 6 marks

each. Answers to them should not normally exceed 100 words each.

(vii) Answers should be brief and to the point and the above word limit be adhered to as

far as possible.

Qs - 3H
Section — A

1. forH YopR & STSTR H§ Uk wH <hl ShIAd SliehTieh gl STdT @ ? 1

Under which form of market a firm is called price taker ?

2. et aga afcan aeg e AFT AT S ? 1

When is a good considered an inferior good ?
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3. A I (FEIT) $Eeh HHH B« (FE fershed gfo)
(A) el JATTH I ol IcATE H 9T LA
(B)
(©) (A) 3 (B)gH
(D) 3TIH | § HIE & 1
Average revenue equals : (Choose the correct alternative)
(A) Total revenue divided by the quantity produced.
(B) Price
(C) Both (A) and (B)
(D) None of the above

4, 3TEH Held shl GRHTST ST | 1

Define production function.

5. s qot wfardt w1 feferRaa o6 e e ued ® - (Fe fashed giw)
(A) TerHma
(B) &R 3itga 3w (Fwfh)
(C) Ter divia smm (w=nf)
(D) 3Urh |t 1
A perfectly competitive firm faces : (Choose the correct alternative)
(A) Constant price
(B) Constant average revenue

(C) Constant marginal revenue

(D) All the above

6. ThHNIcHS T IR 3TeTieh FII % i TR FAET | TAF Hl Teh-Teh 3T
&S | 3
ERC)
=afy srefomer 3t gufy srefomer & i 3Tat FAq1ST | TS 1 Th-Teh 30 AT |
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Distinguish between positive economics and normative economics. Give an example

of each.
OR

Distinguish between micro-economics and macro-economics. Give an example of

each.

7. IcTE GHTSHT I3k 10 9 @l = shl 3T eoral 991 gia1 8 ? THesy |

Why does a production possibility curve slope downwards from left to right ? Explain.

8. IS Ueh o <hl himd 50 Ul wedt 7, a1 35h! 9T 60 fwrd ag St & | 35eh! Himd
T A o1 Ieheld shifoTT |

When price of a good falls by 50 percent, its demand rises by 60 percent. Calculate its

price elasticity of demand.

9. U aEg sl qfd H GG < fh=dl < HRUM hl AR HITWT |

Explain any two causes of ‘increase in supply’ of a commodity.

10. ©Td onTa 3R Hmra S (Fetd) faft g Scred 1 e TR Fa hie | 3
I o ToTal o ST |

HHd | IUET | HA AN 1= ATa
® (GT3) ®) ®)
10 1 10 10
10 2 19 9
10 3 26 7
10 4 36 10
10 5 48 12
Fa
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TRt STATal < = o <fiF =T <t gga IR | R T |

REd Y | $d S
GH) EH3)
1 5
2 11
3 15
4 17
5 15

Identify the equilibrium level of output using “marginal cost and marginal revenue”
approach. Give reasons for your answer.

Price Output | Total Cost | Marginal Cost
® (Units) ® 9]
10 1 10 10
10 2 19 9
10 3 26 7
10 4 36 10
10 5 48 12
OR
Identify the three phases of the law of variable proportions. Give reasons.
Variable Input | Total Product
(Units) (Units)
1 5
2 11
3 15
4 17
5 15

11. = g9 %ad 3 b Toh STITRehR SR H Y 90eqt 4t g1t 2, 1 3698 STeIR O &7 37T
ugdl g ? EHESC | 4

What difference does it make to the market when we say that firms are
interdependent in oligopoly ? Explain.
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12.

13.

14.

58/1/3

et 39 R o e X 0 adu et Kl o T U SAehell T ‘o JR Ha
(GST) & @ 5] X W et L B! T Bl ST | 39h g X <hl hmd 3 011 W
TS Tl THTEI ohl @l THSHST, | [@TTers 31 SR SHIfT |

It is expected that replacement of all existing taxes on good X by the proposed single
Goods and Services Tax (GST) will bring down overall tax on good X substantially.

Explain its likely chain of effects on price and quantity of good X. Use diagram.

Faet gfda wenfit % fore we d@n 12 F WA W

Tt 3 B fob a%g X W IdHe At U o T W 3Thell ST “agq 3R e
(GST) FTH ¥ 9% X W HA L HTHI HH B ST | $8eh a&] X shl hAd 3T AR T
T STl TS oh1 ST FHFATST, | ATfetehT b JART HIfTT |

For the blind candidates in lieu of Q. No. 12

It is expected that replacement of all existing taxes on good X by the proposed single
Goods and Services Tax (GST) will bring down overall tax on good X substantially.

Explain its likely chain of effects on price and quantity of good X. Use a schedule.

Teh IURHT haol ¢ Ig3T X 3T Y T 3TN HaT B | HiHTd ST fageryor gr
IUHRHT T <hl I eh! SATEAT HIFT |

A consumer consumes only two goods X and Y. Explain the conditions of

consumer’s equilibrium using Marginal Utility Analysis.

T TS HhIeC I Bl T o HMHE H HIT 3TN =i FHels L o Hamd I
AT 7 | 38 3e3T U 98 TEHIhI ! FIRE Hear 7 | s €Y dR R ug= S dehd areft
TIE ANT 3R JTAHTEd Td 9d18Y | 379 3L h foTT hRoT €T |

A chartered accountant starts accounting services in the office owned by him and by
investing his own savings. He employs assistants for this purpose. What are explicit

costs and implicit costs directly identifiable in it ? Give reason for your answer.
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15. o9 @1 3R 3ARmE a5 6t it e | oz ot smemse fo gFi o | g e i
AR A e @ 7 6
e
() sTe T Hieft T o gl @ 7 guee |
(@) IFRWH I3 It 91 BT 8 ? THITR |

Define budget line and indifference curve. Also explain why the two are downward

sloping from left to right ?
OR
(a) Why is budget line a straight line ? Explain.

(b) Why is indifference curve convex ? Explain.

Y is —-d

Section — B

16. 9RA ¥ fera weh srot foger # feord weh hvoft 8 39 it @ | R % YT Sge @rd
T Ig SIS HH €S fehar ST B 7 (T faehed gfo)
(A) T @Td % shfee (credit) 9T |
(B) T @M ® sfee (debit) ua1 #
(C) Usfima @rd o shfee (credit) 91 #
(D) YSHTd @Td o sfee (debit) 9eaa 1

A company located in India receives a loan from a company located abroad. How is
this transaction recorded in India’s balance of payments account ? (Choose the

correct alternative)

(A) Credit side of current account
(B) Debit side of current account
(C) Credit side of capital account

(D) Debit side of capital account
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17.  ATa # foeeft garams wid & « (W fospew gfo)
(A) 3T & T AT |
(B) YTIToTeh &1 BT W R |
(C) (A) 3R (B) S 1 ¥ 7 |
(D) 39Uk | & foreft s oft Y T B |

Foreign embassies in India are a part of India’s : (Choose the correct alternative)
(A) Economic territory

(B) Geographical territory

(C) Both (A) and (B)

(D) None of the above

18.  Tifeeh Hehot T ITE & T ST & 7

What is meant by Nominal Gross Domestic Product ?

19. TSI TITeT 36k G § : (T forehed gh)
(A) T TTeT — AT YA
(B) WrfHeh =TT + ST YA
(C) 1 S I — e Sofe STl
(D) SHIE | & IS oft 7
Fiscal deficit equals : (Choose the correct alternative)
(A) Primary deficit minus interest payments
(B) Primary deficit plus interest payments

(C) Total budget expenditure minus total budget receipts
(D) None of the above

20. T S91E T U Iy 8 o1 3w g 7

What is meant by revenue receipt in a Government Budget ?
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21. RO o FaTsC foh fforRaa & wner g 31 Ardd g0 o1 SegR fohan ST 2
(i) U Ak g HR Tlie &g s & ToIT 7 360 W JaM |
(i) g Trea Tamati W TR gr oo o =2 |
(i) 3cATEH 3HTE o foTC A Tlied W= | 3

Giving reason state how are the following treated in estimation of national income.
(i) Payment of interest by an individual to a bank on a loan to buy a car.
(i1)) Expenditure by government on providing free educational services.

(ii1) Expenditure on purchasing a machine installed in a production unit.

22. W W o YA HY 3R Jome 019 & &g 37 S5y | 390 § i d1 [T 3™ &5
Trerieor < frgia 1 3R R ? 3
e
e IuH yaf 3 Sied s=d Y o i SR Sd1sT | g1 o oie R TEg 7

Distinguish between ex-ante measure and ex-post measure of a variable. Which of the
two forms the basis of the theory of national income determination ?

OR

Distinguish between average propensity to consume and average propensity to save.
What is the relation between the two ?

23, Ffe Himma 3THM S 0.9 &, T et [0k o Heot 1 T T | 3

If marginal propensity to consume is 0.9, calculate the value of investment multiplier.

24. WM ST T o SUNRT W Afqae T T SITam & | $HeT () Tehel Bie] 391G 3T
(W) SheITIT T TS aTed HTIeId THTe <hl AT shifolu | 4
CUE
3T < foreor & SreuHarsti § gig & THIST o hedTT 9 T IUTE ISl 8 7 T |

Suppose a ban is imposed on consumption of tobacco. Examine its likely effects on
(a) gross domestic product and (b) welfare.

OR
How does increase in inequalities in distribution of income affect welfare of the

society ? Explain.
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25.

26.

27.

28.

FTe forferep sTfara fiw s1qaTd 0.2 & 3R 8 ST % 5,000 &, A STiosw sfehi gRI 5T
G Shl JTshAT SRS |

If Legal Reserve Ratio is 0.2 and new deposits are I 5,000, explain the process of

money creation by commercial banks.

TR AT H HHT A H W1 {2 (8IG &) hi fiehT TSy |

Explain the role of Repo Rate in reducing money supply.

fereft ferferar <61 | <6 i &al <l 3R geehl gfd o i Hidl o s ST |

Explain three sources of demand for foreign exchange and three sources of supply of

foreign exchange.

oy " 3R guw gfd oty g ude s dqem R o faior aweme | ke w5
TR IR | IE off TSy fop Afe vy 7im wwy qfd & W &1 a1 SHeh1 91 TWIE B |

Explain determination of equilibrium level of national income using aggregate
demand and aggregate supply approach. Use diagram. Also explain the effect when
aggregate demand is less than aggregate supply.

Faet g wenfit % fore wem T 28 F WA W

For blind candidates in lieu of Q. No. 28.

T AT 3R TH qfd & = I @ 7 Afe wmw win o wmy qfd %1 e fe mn
A, A1 Ush JreHaE 1 Gder e BT 7 Afe THy i guy gfd @ HH Sl F AT g 7

BEEIE

What is meant by aggregate demand and aggregate supply ? Given aggregate demand
and aggregate supply behaviour, when is an economy in equilibrium ? What happens

when aggregate demand is less than aggregate supply ? Explain.
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29. ‘ISAAT AT % HfH TR T W@ % = W arel 9iEm S e ta. s Wi
TG HAdH S W R | THH Sl % AT F FLHR i H 399 W i T T HL T
8 3TN HE ? FHeATSy | 6

YAl

TUHATST fhH TR TR S § hil, ¥ 3TV s TEaT o HIEAH ¥ HEEA]
TS hl THTfA TehaT ST Tehal & |

The Government, under Ujjwala Yojana, is providing free LPG kitchen gas
connections to the families ‘below the poverty line’. What objective the government

is trying to fulfil through the government budget and how ? Explain.
OR

Explain how the allocation of resources can be influenced in the government budget

through taxes, expenditure and subsidies.

30. () Fsht 31 3R (W) SR Shimd R Hae T8 3cd1e 1 aieher $if 6
(E2)
(1) TLHR H TH AT FATa 20
(ii) T TR Tt sht Tt 3TR |red o " 3T 10
(iii) Jufeheh TSI T 400
(iv) TeRAT T TH&T 70
v) f7sft fomfera &= 6 wfaenfa sm 30
(vi) R-fawmfi et i s=d 20
(vii) A ST T ITHM 50
(vii)  frma e 80
(ix) T R W AN 40
(x) 9y forga =i fHae =Te] st (-) 10
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Calculate (a) Private Income and (b) Net National Product at Market Price :

R crore)
(1) Current transfers from Government 20
(i1) Property and entrepreneurial income of the Government 10
Administrative Departments
(111) Personal disposable income 400
(iv) Direct taxes on persons 70
(v) Retained earnings of Private Corporate Sector 30
(vi) Savings of non-departmental enterprises 20
(vii) Consumption of fixed capital 50
(viii) Corporate profit tax 80
(ix) National debt interest 40
(%) Net current transfers to rest of the world (-) 10
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